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I The incorrect English translation for
the Hungarian phrase “I would like
some matches”.

I When you start using a new
programming language, we often only
learn parts of it.

I We risk misusing the language -
putting the correct bits together, but
not in the best or correct way.

I You have learnt the words, just make
sure you learn how to use them in
sentances.

I Otherwise you may find: “I will not buy
this software, it is scratched.”

Just because they look similar doesn’t mean they are
1 c lass Hoverc ra f t :
2 c l a s s v a r i a b l e = ’ ee ls ’
3
4 def i n i t ( contents ) :
5 s e l f . i n s t a n c e v a r i a b l e =

contents
6
7
8 #

1 p u b l i c c lass Hoverc ra f t {
2 S t r i n g i n s t a n c e v a r i a b l e =

’ ee ls ’ ;
3
4 Hoverc ra f t ( S t r i n g contents ){
5 t h i s . i n s t a n c e v a r i a b l e =

contents ;
6 }
7 }

Python - Use list comprehension
1 numbers = [1 ,2 ,3 ,4 ,5 ,6 ,7 ,8 ,9 ]
2 squares = [ ]
3 f o r i i n numbers :
4 squares . append ( i∗ i )

1 numbers = [1 ,2 ,3 ,4 ,5 ,6 ,7 ,8 ,9 ]
2 squares = [ i∗ i f o r i i n numbers ]
3
4 #

Julia - Don’t write it like python
1 f u n c t i o n mysum( data )
2 acc = zero ( e l t ype ( data ) )
3 f o r x i n data
4 acc += x
5 end
6 r e t u r n acc
7 end

1 f u n c t i o n mysum2( data )
2 acc = zero ( e l t ype ( data ) )
3 @simd f o r x i n data
4 acc += x
5 end
6 acc
7 end


